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Algorithm 2 00 000000000000 (partial)

1: procedure GROUPMAINTENANCEFORNEWRUN(7new)
2: if G+ 0 then

3: for all g; € G do

4: Ttemp < getNewest(A; U M;)
5: if Ttemp.te == Tnew.te then
6: A; +— A; U {T‘new}

7: break

8: end if

9: end for
10: if Ve € AUM,z.te < rpew.ts then
11: createNewGroup({rpew})
12: end if
13: else
14: createNewGroup({rnew})

15: end if

16: end procedure

Algorithm 1 0 0000000000000 (complete)

1: procedure GROUPMAINTENANCEFORNEWRUN(7peqw )
2: if G # 0 then

3: for all g; € G do

4: if M; + 0 then

5: Miemp < getNewest(M;)
6: if Miemp te < Tnew.te then
7 continue

8: end if

9: end if

10: A; +— A; U {rnew}

11: end for

12: if Vm € M, m.te < Tnew.ts then
13: createNewGroup(A)

14: end if

15: else

16: createNewGroup({rnew})

17: end if

18: end procedure

6.1.2 00000000 OOOOOOCOO0D0OO

goboodoooooooooooboooobooobooooobooa
goboooooooooboooooooooooboooooboo
gooooooooboooooooooOobobboooa og
1000000000000 0000bOO00oO0b0o0obOo0o0oo0Oo
gobooooboooobooooboooooooboouoooboo
goboooooboooobooooobooooooobooooobo
goboooobooooboooooboooooooboboooooboo

goboooobooobooobooooooobooooooboo
gooood

gooooooooooboooboobooooooboooooo
gobobo 2000000000000000DO0CDO20000
gobooooobooooboooboooooooboooooboo
oooo0oo0o0 4o0000000000000O0O00000O0
gbobooooooooooooogoo sgool12000000
gobodooooboooooooooo

e [O0OOCOOOOOOOOOOODODOOOOOOOO4
goobooooooobooboooboobobooOoobooooa
gooooooooboobooooooboboooodboeoonog
goboooobooobooobooooooobooooooa
gobboeO0OO0OOO0ODOOOOTODOOO
goooobooobooocboobbooboOoooboooooo

gooooonoooobooooooboooooooboo

gobooooood

gobooobooooboooooboooobobooooooobooo
goobobooooooooo 3gboooooooooooboa
gboooooooboooooooooob20004000
gobooooboooboooobooooooobooooooo
gobooooboooboooboooooooboooooboo
goboooobooobooobooooooobooooooboo
gobooooooo rogosgooble0OoOobooOoOoOO
uoboo ¢ oboooobobocoooooa

e [O0U0ODOOOOOOUDOOUODOOLODOODOO
gooooboboooooooooooooboobobooooooobe
gobonooopobooooobooooooooobooooooboo
gobooooooobi2000d
goboooobooobooooboooooobooooooboo
goboooobooobobooooboooooooobooooooo
goooboooooooooooleboooooobooo
goooo

6.1.3 O0O0OOO0OO

gobooooobooooooooocoooboooooooobooo
goboooboooobobooooooooooooooood



Algorithm 300000000000000 (partial)
1: procedure GROUPMAINTENANCEFORREMOVEDRUN(7gejete )
2: for all g, € G do
3: Remove rgejete from Ay
4: if ~(Vz € My U Ay, 3z’ € My U Ay such that z +
x', ts_overlap(z,z’)) then

5: for all t; € T do

6: for all m; € M;, do

7 if mj.ts <t then

8: Xtemp — Xtemp U {m]}
9: Remove m; from My
10: end if
11: end for
12: createNewGroup(Xtemp)
13: Clear Xtemp
14: end for
15: createNewGroup(My U A)
16: Delete g
17: end if
18: end for

19: end procedure
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